Pompa jednokierunkowa - typ XV-2P

STANDARD EUROPEAN PUMP
836.5 FLANGE - TAPER SHAFT

|X|2|p|51|02|E|P|O]|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 02  (36.5 STANDARD EUROPEAN right rotation
Shaft E  COO001 - Tapered 1:8 - 817.4 - M12x1.5 - key thk.4
IN P inlet- @40 @20 M8
Body
OUT| O outlet-@30@13.5 M6
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2P/04 4,20 260 300 X 2P4101EOO A|X 2P4102EOO A 3 3
XV-2P/06 6,00 260 300 X 2P4301EOO A|X 2P4302EOO A
XV-2P/09 8,40 260 300 X 2P4501EOO A|X 2P4502EO0O0O A
XV-2P/11 10,80 260 300 X 2P4701EOQOQO AfJX 2P4702EQOQO A
XV-2P/14 14,40 250 290 X 2P4901EPO AfJX 2P4902EPO A . .94
XV-2P/17 16,80 230 270 X 2P5101EPO AfX 2P5102EPO A M
XV-2P/19 19,20 210 250 X 2P5301EPO AJX 2P5302EPO A
XV-2P/22 22,80 200 240 [X 2P5501EPO A|X 2P5502EPO A @ 174
XV-2P/26 26,20 170 210 (X 2P5701EQP AfX 2P5702EQP A M12x1.5
XV-2P/30 30,00 160 200 (X 2P5901EQP AfX 2P5902EQP A
XV-2P/34 34,20 150 190 X 2P610LEQP AIX 2P6102EQP A [
XV-2P/40 39,60 140 180 X 2P6301EQP AJX 2P6302EQP A ﬁ %
P1) Max. working pressure - P3) Max. peak pressure T3 36,5 f7 (%)
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft ' \ -
<118 MK
Dimensions table T2 4\@
o )
TYPE Weight A B c D E F D E F m\;ﬁ by
kg mm | mm | mm IN ouT \ | \ | o
XV-2P/04 2,200 87,2 | 41,7 | 77,2 | 13,5 30| M6x1 |@13,5|30| M6x1 a o ‘ | o
XV-2P/06 2,300 90,2 | 43,2 | 80,2 | 213,530 M6x1 |@13,5|30| M6x1 - O
XV-2P/09 2,400 94,2 | 45,2 | 84,2 | 913,530 M6x1 213,530 M6x1 < (o] © ;3 01 w
XV-2P/11 2,500 98,2 | 47,2 | 88,2 | 913,530 M6x1 213,530 M6x1
XV-2P/14 2,700 104,2 | 50,2 | 94,2 | 920 40 M8X1,25 | 13,5 |30 M6x1
XV-2P/17 2,800 108,2 | 52,2 | 98,2 | 920 40 M8X1,25 | 13,5 |30 M6x1 [ T ‘ T T ‘ w
XV-2P/19 2,900 |112,2| 54,2 |102,2 | 220 |40| M8X1,25 | 813,5|30| M6Xx1 15.7 \
XV-2P/22 3,050 118,2 | 57,2 | 108,2 | 220 |40| M8X1,25 | 13,5 |30 M6x1 T.A1
XV-2P/26 3,150 122,2 | 59,2 | 112,2 | 23,5 |[40| M8X1,25 | 220 |40 M8X1,25
XV-2P/30 | 3,400 | 1302 632 | 1202 | 23,5 40 M8X1,25 | 220 |40 M8X1,25 575 . Foa s 875
XV-2P/34 3,600 137,2 | 66,7 | 127,2 | 23,5 40| M8X1,25 | 220 |40| M8X1,25 — L
XV-2P/40 3,800 146,2 | 71,2 | 136,2 | 23,5 | 40| M8X1,25 | 220 |40| M8X1,25 10 @ @%}
o B
< @ B
35e0d-
O i
26/08/04 X2PS102EPOAGT
T.1 =54+58.9 [Nm] - screw tightening torque M10 T.3 =40 [Nm] - torque wrench setting 19
T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP201 www.vivoil.com - english 30/06/2008




Table of variations

| ] xv-ap

B l‘/il@%\'.“

236.5 FLANGE
236.5 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
Cl001 - Parallel Cl002 - Parallel
02 T2=441[Nm] | T2= E?.E [Nm] B
~ S B
i 3 -
=| Py
=1 % G==1 %
%Lgiﬂ 87 2?£ ®
[ C0001 - Tapered C0002 - Tapered
o
04 o LE— 233.5 Nml g y T2= 233;..2 Nml | g %
~] . < ¥ NESRE] b= =
EPIE ERRPRE i e
| & 1O 4
o o
6,45 125 8,65 ‘13
24,5 1&,5
[ SCF02 - Splined SCFO3 - Splined
T.2=86.1[Nm T.2=86.1[Nm 195 &
06 m=16 Z=9 [ ]‘_ G m=1,6 Z=9 [ ]_ H 2
DIN 5482 - 17x14. = DIN 5482 - 17x14 = =
E g —
out
‘ 655 | |13 8.55 18.8
[ 25 — 25 [ SCF04 - Splined SCFO1 - Splined
) T.2=67.1[Nm] | T2=862[Nm] | | G| 19.5 195 &
96s o LT B S & 8
o' ) E E E —
A A%
IN @ 12 OUT @ 12 © s 02l | 1s ouT IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads . - e — "
XV-2P/04 41 04 0-0  S-R | B-B | L-M | Z-Z ‘E.l R
60 60
XV-2P/06 43 06 O-0| S-R | B-B|L-M | zZ-Z ]
XV-2P/09 45 09 0O-0 S-R |B-B|L-M Z-Z Internal drainage
XV-2P/11 47 11 O-0| S-R | B-B|L-M | zZz-Z
XV-2P/14 49 14 P-O| S-R| C-B|L-M | 2zZ-Z
XV-2P/17 51 17 P-O|S-R|C-B|L-M| Z-Z
XV-2P/19 53 19 P-O|S-R|C-B|L-M| Z-Z
XV-2P/22 55 22 P-O|S-R|C-B|L-M| Z-2Z
XV-2P/26 57 26 Q-P|S-R | D-C|L-M | Z-Z External drainage
XV-2P/30 59 30 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/34 61 34 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/40 63 40 Q-P| S-S | D-C|L-M| Z2-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP 14x1.5 16x1.5 18x1.5
A B (o} D E F
20x1,5 22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
H | ]@3[ L M g P
@40
M8x1.25 Méx1 M6x1 Méx1
2> $ o o .
o 0 KPR I P | B, S N o) Gehéause
s Q- R % s O 8T S, Geschlossen
@40 @35 t 2l @40 48
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP201 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

STANDARD EUROPEAN PUMP
836.5 FLANGE - TAPER SHAFT

|X|2|p|51|02|E|C|B|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 02  @36.5 STANDARD EUROPEAN right rotation
Shaft E  COO001 - Tapered 1:8 - 917.4 - M12x1.5 - key thk.4
IN C  inlet-3/4" GAS
Body
OUT| B  outlet-1/2" GAS
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2P/04 4,20 260 300 [X 2P4101EBB A|X 2P4102EBB A
XV-2P/06 6,00 260 300 |[X 2P4301EBB A|X 2P 4302EBB A
XV-2P/09 8,40 260 300 |[X 2P4501EBB A|X 2P 4502EBB A
XV-2P/11 10,80 260 300 X 2P4701EBB AfJX 2P4702EBB A
XV-2P/14 14,40 250 290 X 2P4901ECB AfJX 2P4902ECB A .94
XV-2P/17 16,80 230 270 X 2P5101ECB AfJX 2P5102ECB A M
XV-2P/19 19,20 210 250 X 2P5301ECB AfX 2P5302ECB A
XV-2P/22 22,80 200 240 |X 2P5501ECB A|X 2P5502ECB A @ 17,4
XV-2P/26 26,20 170 210 |[X 2P5701EDC A|X 2P5702EDC A M12x1.5
XV-2P/30 30,00 160 200 |[X 2P5901EDC A|X 2P5902EDC A
XV-2P/34 34,20 150 190 [X 2P6101EDC A|X 2P6102EDC A [
XV-2P/40 39,60 140 180 X 2P6301EDC AfJX 2P6302EDC A ﬁ %
P1) Max. working pressure - P3) Max. peak pressure T3 36,5 f7 (680
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft ' \ o
<11:8 A
Dimensions table T2 \\
. [Te]
TYPE Weight A B c D D ;\\—‘ =
kg mm mm mm IN ouT | \ \ ©
XV-2P/04 2,200 872 | 41,7 | 772 1/2" BSPP 1/2" BSPP ol ‘ ‘ o
XV-2P/06 2,300 90,2 43,2 80,2 1/2" BSPP 1/2" BSPP = T R
XV-2P/09 2,400 94,2 45,2 84,2 1/2" BSPP 1/2" BSPP < O @ﬁ Ia)
XV-2P/11 2,500 98,2 47,2 88,2 1/2" BSPP 1/2" BSPP
XV-2P/14 2,700 104,2 50,2 94,2 3/4" BSPP 1/2" BSPP
XV-2P/17 2,800 108,2 52,2 98,2 3/4" BSPP 1/2" BSPP i gy,
XV-2P/19 2,900 112,2 54,2 102,2 3/4" BSPP 1/2" BSPP 15 7‘:””
XV-2P/22 3,050 118,2 57,2 108,2 3/4" BSPP 1/2" BSPP ' TA
XV-2P/26 3,150 122,2 59,2 112,2 1" BSPP 3/4" BSPP 06.2
XV-2P/30 3,400 130,2 63,2 120,2 1" BSPP 3/4" BSPP 8.75 324 ' 638 8.75
XV-2P/34 3,600 137,2 66,7 127,2 1" BSPP 3/4" BSPP ——t————N
XV-2P/40 | 3,800 | 1462 | 712 | 136, 1" BSPP 3/4" BSPP - @ @Eﬁ
N
0 ©
~ © S
g ISt
ot @ :
26/08/04 X2PS102E[BA Gt
T.1 =54+58.9 [Nm] - screw tightening torque M10 T.3 =40 [Nm] - torque wrench setting 19
T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP207 www.vivoil.com - english 30/06/2008




Table of variations

| ] xv-ap

B l‘/il@%\'.“

236.5 FLANGE
236.5 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
Cl001 - Parallel Cl002 - Parallel
02 T2=441[Nm] | T2= E?.E [Nm] B
~ S B
i 3 -
=| Py
=1 % G==1 %
%Lgiﬂ 87 2?£ ®
[ C0001 - Tapered C0002 - Tapered
o
04 o LE— 233.5 Nml g y T2= 233;..2 Nml | g %
~] . < ¥ NESRE] b= =
EPIE ERRPRE i e
| & 1O 4
o o
6,45 125 8,65 ‘13
24,5 1&,5
[ SCF02 - Splined SCFO3 - Splined
T.2=86.1[Nm T.2=86.1[Nm 195 &
06 m=16 Z=9 [ ]‘_ G m=1,6 Z=9 [ ]_ H 2
DIN 5482 - 17x14. = DIN 5482 - 17x14 = =
E g —
out
‘ 655 | |13 8.55 18.8
[ 25 — 25 [ SCF04 - Splined SCFO1 - Splined
) T.2=67.1[Nm] | T2=862[Nm] | | G| 19.5 195 &
96s o LT B S & 8
o' ) E E E —
A A%
IN @ 12 OUT @ 12 © s 02l | 1s ouT IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads . - e — "
XV-2P/04 41 04 0-0  S-R | B-B | L-M | Z-Z ‘E.l R
60 60
XV-2P/06 43 06 O-0| S-R | B-B|L-M | zZ-Z ]
XV-2P/09 45 09 0O-0 S-R |B-B|L-M Z-Z Internal drainage
XV-2P/11 47 11 O-0| S-R | B-B|L-M | zZz-Z
XV-2P/14 49 14 P-O| S-R| C-B|L-M | 2zZ-Z
XV-2P/17 51 17 P-O|S-R|C-B|L-M| Z-Z
XV-2P/19 53 19 P-O|S-R|C-B|L-M| Z-Z
XV-2P/22 55 22 P-O|S-R|C-B|L-M| Z-2Z
XV-2P/26 57 26 Q-P|S-R | D-C|L-M | Z-Z External drainage
XV-2P/30 59 30 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/34 61 34 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/40 63 40 Q-P| S-S | D-C|L-M| Z2-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP 14x1.5 16x1.5 18x1.5
A B (o} D E F
20x1,5 22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
H | ]@3[ L M g P
@40
M8x1.25 Méx1 M6x1 Méx1
2> $ o o .
o 0 KPR I P | B, S N o) Gehéause
s Q- R % s O 8T S, Geschlossen
@40 @35 t 2l @40 48
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP201 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

"BH" TYPE PUMP

250 BODY-SHAPED FLANGE - TAPE

|X|2|p|51[12|F|S|R|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 12 350 BH GERMAN STARDARDIZED right rotation
Shaft F  CO002 - Tapered 1:5 - 17.4 - M12x1.5 - key thk.3
IN S inlet- @40 a 45° @20 M6
Body
OUT| R  outlet-@35a45° @15 M6
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation

XV-2P/04 4,20 260 300 X 2P4111FSRA|X 2P4112F SR A
XV-2P/06 6,00 260 300 X 2P4311FSRA|X 2P4312F SR A
XV-2P/09 8,40 260 300 X 2P4511FSRA|X 2P4512F SR A
XV-2P/11 10,80 260 300 X 2P4711F SR AfX 2P4712F SR A
XV-2P/14 14,40 250 290 X 2P4911F SR AJX 2P4912F SR A
XV-2P/17 16,80 230 270 X 2P5111F SR AfX 2P5112F SR A
XV-2P/19 19,20 210 250 X 2P5311FSRAJX 2P5312F SR A
XV-2P/22 22,80 200 240 (X 2P5511FSR AIX 2P5512F SR A . M12x15
XV-2P/26 26,20 170 210 (X 2P5711FSRA|X 2P5712F SR A
XV-2P/30 30,00 160 200 (X 2P5911FSS A|X 2P5912FSS A —
XV-2P/34 34,20 150 190 X 2P6111FSS AIX 2P6112FSS A % %
XV-2P/40 39,60 140 180 X 2P6311FSS AfJX 2P6312FSS A

P1) Max. working pressure - P3) Max. peak pressure

For heavy-duty applications, it isrecommended to check the admissible torque of the shaft

Dimensions table

TYPE Weight A B C D E F D E F
kg mm mm mm IN ouT
XV-2P/04 2,100 87,2 | 386 | 77,2 | 220 40| M6x1 @15 |35| M6x1l
XV-2P/06 2,200 90,2 | 38,6 | 80,2 | 220 40| M6x2 @15 |35| M6x1l
XV-2P/09 2,300 94,2 | 40,6 | 84,2 220 |40 M6x3 @15 |35 M6x1
XV-2P/11 2,400 98,2 | 45,0 | 88,2 220 |40 M6x4 @15 |35 M6x1
XV-2P/14 2,600 104,2 | 45,0 | 94,2 220 |40 M6x5 @15 |35 M6x1
XV-2P/17 2,700 108,2 | 45,0 | 98,2 220 |40 M6x6 @15 |35 M6x1
XV-2P/19 2,800 112,2 | 45,0 | 102,2 | @20 (40| M6Xx7 @15 |35| M6x1l
XV-2P[22 2,950 118,2 | 52,5 | 108,2 | 220 |40 M6x8 @15 |35 M6x1
XV-2P/26 3,050 122,2 | 52,5 | 112,2 | 220 |40 M6x9 @15 |35 M6x1
XV-2P/30 3,300 130,2 | 60,7 | 120,2 | @20 |40, M6x10 220 |40| M6x1l
XV-2P/34 3,500 137,2 | 60,7 | 127,2 | 920 |40| M6x11 @20 |40 M6x1
XV-2P/40 3,700 146,2 | 60,7 | 136,2 | 920 |40| M6x12 @20 |40 M6x1

T.1 =54+58.9 [Nm] - screw tightening torque M10
T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).

T.3 =40 [Nm] - torque wrench setting 19

T-3\ 50 f7 (55%)
<115 e
T2 Iﬂg
o~ \ o
N DN ©
e
<)
- (-]
> __Q
o > DI"”
o | O
i L
T iy
15,7
TA

2 10,5

26/08/04 X2PSH2FSRAdft

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP210

www.vivoil.com - english

30/06/2008




Table of variations

250 "BH" Body-Shaped FLANGE

250 "BH" Body-Shaped FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
Cl001 - Parallel Cl002 - Parallel
1 12 T2=441[Nm] | A ¢ T.2=67. 5 Nm] g
] N <18 9
e B
= b8
| iﬁ_j o [ 1
J_L M 6.45']
‘ 845, 30 24,5
[ [ C0001 - Tapered C0002 - Tapered
o
T2= 233 2 [Nm] T.2 =233.2 [Nm] @
13 14 o Lis ) g E 9 <15 9y = g
- ~] -~ &N
s WJ &= § . g5 3
g | 1
= S
645/ 21,5 ij 13
| %
[ [ SCFO3 - Splined
= 19,5 %
G ,...T'szz.g%'l INm] )
DIN 5482 - 17x14 _ ‘Q_
g
s
ouT
‘ 6.55 188
2 19,5 195 &
17 a 2
o Q
=
‘ OouT, IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads _ e 1=V
XV-2P/04 41 04 O0-O0| S-R|B-B | L-M | Z-Z O f—
XV-2P/06 43 06 0O-0| S-R|B-B|L-M | Z-Z E 60 60
XV-2P/09 45 09 O-0| S-R | B-B | L-M | Z-Z Internal drainage
XV-2P/11 47 11 O-0| S-R | B-B | L-M | Z-Z
XV-2P/14 49 14 P-O| S-R|C-B|L-M | Z-Z
XV-2P/17 51 17 P-O| S-R|C-B|L-M | Z-Z
XV-2P/19 53 19 P-O| S-R|C-B|L-M | Z-Z ]
XV-2P/22 55 22 P-O| S-R|C-B|L-M | Z-Z
XV-2P/26 57 26 Q-P | S-R|D-C|L-M | Z-Z External drainage
XV-2P/30 59 30 Q-P|S-s | D-C|L-M| Z-Z
XV-2P/34 61 34 Q-P|S-s | D-C|L-M| Z-Z
XV-2P/40 63 40 Q-P|S-s | D-C|L-M| Z-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP 14x1.5 16x1.5 18x1,5
@ A B % § C D E F
20x1,5 22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
(=)
H [ Ky L M S,
@40
M8x1.25 Méx1 M6x1 Méx1
2> $ o o o=
< 0 KPR I P | B, b= P~ ) Gehause
S Q- R % S C 4 T3 Geschlossen
@40 @35 t Zl @40 48
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP210 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

"HY" TYPE PUMP

250 BODY-SHAPED FLANGE - TAPE

|X|2|p|51|22|F|S|R|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 22 | 50 HY GERMAN STARDARDIZED right rotation
Shaft F  CO002 - Tapered 1:5 - 917.4 - M12x1.5 - key thk.3
IN S  inlet- @40 a 45° @20 M6
Body
OUT| R  outlet-@35a45° @15 M6
Cover A standard
XP213
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2P/04 4,20 260 300 X 2P4121F SR AIX 2P4122FSR A 3 8
XV-2P/06 6,00 260 300 X 2P4321FSR A|X 2P4322F SR A
XV-2P/09 8,40 260 300 X 2P4521F SR AIX 2P4522F SR A
XV-2P/11 10,80 260 300 |[X 2P4721FSR AIX 2P4722F SR A
XV-2P/14 14,40 250 290 |[X 2P4921F SR AJX 2P4922FSR A P 9,2
XV-2P/17 16,80 230 270 | X 2P5121FSRAJX 2P5122FSR A R é
XV-2P/19 19,20 210 250 | X 2P5321FSRAJX 2P5322FSRA L @ 174
XV-2P/22 22,80 200 240 (X 2P5521FSR AIX 2P5522F SR A M12x15
XV-2P/26 26,20 170 210 (X 2P5721FSR AIX 2P5722F SR A
XV-2P/30 30,00 160 200 (X 2P5921FSS AJX 2P5922FSS A L
XV-2P/34 34,20 150 190 [ X 2P6121FSS AjX 2P6122FSS A % %
XV-2P/40 39,60 140 180 X 2P6321FSS A|X 2P6322FSS A
P1) Max. working pressure - P3) Max. peak pressure T3 50 7 (355
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft < 1:5\ o
— T2 \\ZLQ
Dimensions table \\ﬁ:\ ©
TYPE Weight A B c D E F D E F N \ ) |
kg mm | mm | mm IN out ‘ 8|
XV-2P/04 2,100 87,2 | 38,6 | 77,2 | 20 |40| M6x1l @15 |35 M6x1 o 5 Q ®
XV-2P/06 2,200 90,2 | 38,6 | 80,2 | 20 |40| M6x2 @15 |35 M6x1 ) DII.IJ
XV-2P/09 2,300 94,2 | 40,6 | 84,2 | 920 |40 M6x3 215 |35 M6x1 < o 5. [ O
XV-2P/11 2,400 98,2 | 45,0 | 88,2 | 820 |40 M6x4 @15 |35 M6x1
XV-2P/14 2,600 104,2 | 45,0 | 94,2 | 220 |40 M6x5 @15 |35 M6x1 | w
XV-2P/17 2,700 108,2 | 45,0 | 98,2 | 220 |40 M6x6 @15 |35 M6x1 B
XV-2P/19 2,800 |112,2 | 45,0 |102,2 | 220 (40| M6x7 @15 |35 M6x1
XV-2P/22 2,950 118,2 | 52,5 | 108,2 | 220 |40 M6x8 915 |35 M6x1
XV-2P/26 3,050 122,2 | 52,5 | 112,2 | 220 |40 M6x9 915 |35 M6x1
XV-2P/30 3,300 |130,2| 60,7 |120,2| @20 [40| M6x10 @20 |40| M6x1
XV-2P/34 3,500 137,2 | 60,7 | 127,2 | 920 |40| M6x11 220 |40 M6x1
XV-2P/40 3,700 146,2 | 60,7 | 136,2 | 920 |40| M6x12 220 |40 M6x1 uc}
S
26/08/04 X2P5122FSRAdft
T.1 = 54+58.9 [Nm] - screw tightening torque M10 T.3 =40 [Nm] - torque wrench setting 19
T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP213 www.vivoil.com - english 30/06/2008




Table of variations

250 "HY" Body-Shaped FLANGE

250 "HY" Body-Shaped FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
Cl001 - Parallel Cl002 - Parallel
21 22 T2=441[Nm] | A ¢ T.2=67. 5 Nm] g
] N <18 9
adly | E £
| iﬁ_j o [ 1
J_L M 6.45']
‘ 845, 30 24,5
[ [ C0001 - Tapered C0002 - Tapered
o
T2= 233 2 [Nm] T.2 =233.2 [Nm] @
23 24 9 s ) g E 9 <15 9y = g
- ~] -~ &N
) ‘arJ 45 ! E}q R 3
g | 1
= S
645/ 21,5 ij 13
| %
[ [ SCFO3 - Splined
= 19,5 %
o ,...T'szz.g%'l INm] )
DIN 5482 - 17x14 _ ‘Q_
g
s
ouT
‘ 6.55 188
2 19,5 195 &
27 2 a
o Q
=
‘ OouT, IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads _ e 1=V
XV-2P/04 41 04 O0-O0| S-R|B-B | L-M | Z-Z Ot f—
XV-2P/06 43 06 0O-0| S-R|B-B|L-M | Z-Z E 60 60
XV-2P/09 45 09 O-0| S-R | B-B | L-M | Z-Z Internal drainage
XV-2P/11 a7 11 O-0| S-R | B-B | L-M | Z-Z
XV-2P/14 49 14 P-O| S-R|C-B|L-M | Z-Z
XV-2P/17 51 17 P-O| S-R|C-B|L-M | Z-Z
XV-2P/19 53 19 P-O| S-R|C-B|L-M | Z-Z ]
XV-2P/22 55 22 P-O| S-R|C-B|L-M | Z-Z
XV-2P/26 57 26 Q-P | S-R|D-C|L-M | Z-Z External drainage
XV-2P/30 59 30 Q-P|S-s | D-C|L-M| Z-Z
XV-2P/34 61 34 Q-P|S-s | D-C|L-M| Z-Z
XV-2P/40 63 40 Q-P|S-s | D-C|L-M| Z-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP 14x1.5 16x1.5 18x1,5
@ A B % § C D E F
20x1,5 22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
(=)
H [ Ky L M S,
@40
M8x1.25 Méx1 M6x1 Méx1
> $ o o o=
< 0 KPR I P | B, b= P~ ) Gehause
S Q- R % S C 4 T3 Geschlossen
@40 &35 t “| @40 48
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP213 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

STANDARD GERMAN "BH" TYPE P
252 BODY-SHAPED FLANGE - MILL

|X|2|p|51|82|Cc|S|R|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 32 (352 BH GERMAN STARDARDIZED right rotation (with OR)
Shaft C  CF001 - Milled shank @15 - thk.8 ("BH" Standard German)
IN S inlet- @40 a 45° @20 M6
Body
OUT| R  outlet-@35a45° @15 M6
Cover A standard
XP216
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2P/04 4,20 260 300 X 2P4131CSRA|X 2P4132CSRA
XV-2P/06 6,00 260 300 (X 2P4331CSRA|X 2P4332CSRA
XV-2P/09 8,40 260 300 X 2P4531CSRA|X 2P4532CSRA
XV-2P/11 10,80 260 300 X 2P4731CSR AfX 2P4732CSR A o| 58
XV-2P/14 14,40 250 290 (X 2P4931CSRAJX 2P4932CSR A g ?:; B ¢83§,’r§?§
XV-2P/17 16,80 230 270 X 2P5131CSRAJX 2P5132CSR A
XV-2P/19 19,20 210 250 | X 2P5331CSRAJX 2P5332CSR A (F;L’E
XV-2P/22 22,80 200 240 |[X 2P5531CSRA|X 2P5532CSRA ~
XV-2P/26 26,20 170 210 (X 2P5731CSRA|X 2P5732CSRA Al
XV-2P/30 30,00 160 200 (X 2P5931CSS A|X 2P5932CSS A @ 30 Al l
XV-2P/34 34,20 150 190 X 2P6131CSS A|X 2P6132CSS A @ 42 §§
XV-2P/40 : 39,60 140 180 X 2P6331CSS AIX 2P6332CSS A T2 @ 168 ‘©
P1) Max. working pressure - P3) Max. peak pressure \ o I
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft I~ 5 1
o 1 7
Dimensions table e L
TYPE Weight A B c D |E F D |E F 52 7 (3%)
N -OR47,30X 2,62
kg mm mm mm IN ouTt
XV-2P/04 2,100 87,2 | 38,6 | 77,2 | 20 |40| M6x1l @15 |35 M6x1 L S ‘
XV-2P/06 2,200 90,2 | 38,6 | 80,2 | 20 |40| M6x2 @15 |35 M6x1 m > Q
XV-2P/09 2,300 94,2 | 40,6 | 84,2 | 920 |40 M6x3 215 |35 M6x1 @ ) DII.IJ
XV-2P/11 2,400 98,2 | 45,0 | 88,2 | 820 |40 M6x4 @15 |35 M6x1 < © u &
XV-2P/14 2,600 104,2 | 45,0 | 94,2 | 220 |40 M6x5 @15 |35 M6x1 ]
XV-2P/17 2,700 108,2 | 45,0 | 98,2 | 220 |40 M6x6 @15 |35 M6x1
XV-2P/19 2,800 |112,2 | 45,0 |102,2 | 220 (40| M6x7 @15 |35 M6x1
XV-2P/22 2,950 118,2 | 52,5 | 108,2 | 920 |40 M6x8 915 |35 M6x1
XV-2P/26 3,060 |122,2| 52,5 |112,2 | 220 |40 M6x9 @15 |35 M6x1 TA
XV-2P/30 3,300 |130,2| 60,7 |120,2| @20 [40| M6x10 @20 |40| M6x1
XV-2P/34 3,500 137,2 | 60,7 | 127,2| 220 40| M6x11 220 |40 M6x1
XV-2P/40 3,700 146,2 | 60,7 | 136,2 | 220 40| M6x12 220 |40 M6x1 =] o
=]
S|
45,7
6/08/04 X2P5B2LSRAd
T.1 = 54+58.9 [Nm] - screw tightening torque M10
T.2 = 60.5 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP216 www.vivoil.com - english 30/06/2008




Table of variations | {U | ' | l XV-2P
Standard German 52 "BH" FLANG- | l ‘/‘i m

Standard German 52 "BH" FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CFO001 - Milled shank SCFO05 - Splined
31 32 T.2=605[Nm] | T"ﬁ; 53_539.2 [Nm] K
L s DIN 5482 - 17x14
W ﬂ 8 i ) .
e St
] 1Y
‘ 65 fa 1] || 20
[ [ SCFO1 - Splined
o
33 3q  T:22882[Nml 2
DIN 5482 - 17x14 =]
s
‘ 22| |18
19,5 §
35 36 o
+ | I
‘ ouT
o195 195 &
37 2 @
o Q
(=
‘ OuT, IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads _ e 1=V
XV-2P/04 41 04 O-0| S-R | B-B|L-M| Z-Z Ot f—
XV-2P/06 43 06 0O-0|S-R | B-B|L-M| Z-Z E 60 60
XV-2P/09 45 09 O-0| S-R | B-B | L-M | Z-Z Internal drainage
XV-2P/11 47 11 O0O-0| S-R | B-B | L-M| Z-Z
XV-2P/14 49 14 P-O|S-R|C-B|L-M| Z-Z
XV-2P/17 51 17 P-O| S-R|C-B|L-M | Z-Z
XV-2P/19 53 19 P-O| S-R|C-B|L-M | Z-Z ]
XV-2P/22 55 22 P-O| S-R|C-B|L-M | Z-Z
XV-2P/26 57 26 Q-P S-R D-C L-M Z-7Z External drainage
XV-2P/30 59 30 Q-P| S-S | D-C|L-M| Z-Z
XV-2P/34 61 34 Q-P| S-S | D-C|L-M| Z-Z
XV-2P/40 63 40 Q-P| S-S | D-C|L-M| Z-Z

Table showing standard flange and thread
combinations available in stock

Body (threads/flanges)
3/8"BSP 1/2'BSP 3/4"BSP 1"BSP 14x1.5 16x1.5 18x1,5
@ A @ B E § (o] E § D E F
20x1,5 22x1,5 1-16"12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
(=)
H | Ky L M S
@40
M8x1.25 Méx1 _ M6x1 . Meéxt
¢ }\ ¥ o "
< 0 KPR I P (G b= P~ ) Gehause
S Q- R % S C 4 T3 Geschlossen
@40 &35 I 2 @40 48

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP216 www.vivoil.com - english 30/06/2008



unidirectional pump - series XV

STANDARD GERMAN PUMP
280 FLANGE - TAPER SHAFT

|X|2|P|51|42|F|S|R|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 42 280 GERMAN STARDARDIZED right rotation (with OR)
Shaft F  CO002 - Tapered 1:5 - 17.4 - M12x1.5 - key thk.3
IN S inlet- @40 a 45° @20 M6
Body
OUT| R  outlet-@35a45° @15 M6
Cover A standard
117
Technical data table 08
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2P/04 4,20 260 300 X 2P4141FSRA|X 2P4142FSR A 83
XV-2P/06 6,00 260 300 X 2P4341FSRA|X 2P4342FSR A
XV-2P/09 8,40 260 300 X 2P4541FSRA|X 2P4542F SR A
XV-2P/11 10,80 260 300 X 2P4741F SR AfX 2P 4742F SR A
XV-2P/14 14,40 250 290 (X 2P4941F SR AfX 2P4942F SR A -
XV-2P/17 16,80 230 270 X 2P5141F SR AJX 2P5142FSR A @ OR75,82X 1,78
XV-2P/19 19,20 210 250 | X 2P5341FSRAJX 2P5342FSR A
XV-2P/22 22,80 200 240 X 2P5541F SR A|X 2P5542F SR A @ 17,4 \ ®
XV-2P/26 26,20 170 210 (X 2P5741FSRA|X 2P5742F SR A M12x1.5 M |
XV-2P/30 30,00 160 200 (X 2P5941FSS A|X 2P5942FSS A & il
XV-2P/34 34,20 150 190 X 2P6141FSS A|IX 2P6142FSS A =
XV-2P/40 39,60 140 180 X 2P6341FSS A|X 2P6342FSS A % %% 2
o

P1) Max. working pressure - P3) Max. peak pressure

T3 & 80 e7 (352)

For heavy-duty applications, it isrecommended to check the admissible torque of the shaft <11:5 ] \
- ; T2—
Dimensions table 0
TYPE Weight A B c D E F D E F S‘ - ;;
kg mm mm mm IN ouT ‘ ‘

XV-2P/04 2,330 89,7 | 41,1 | 79,7 | 820 |40 M6x1 215 |35 M6x1 1] "N’— e
XV-2P/06 2,430 92,7 | 41,1 | 82,7 | 820 |40| M6x2 @15 |35| M6x1 - > DI
XV-2P/09 2,530 96,7 | 43,1 | 86,7 | 820 |40 M6x3 215 |35 M6x1 <© o u
XV-2P/11 2,630 100,7 | 47,5 | 90,7 | 220 |40 M6x4 215 |35 M6x1
XV-2P/14 2,730 106,7 | 47,5 | 96,7 | 220 |40 M6x5 215 |35 M6x1 L
XV-2P/17 2,830 110,7 | 47,5 | 100,7 | 220 |40 M6x6 215 |35 M6x1 \‘LL B T
XV-2P/19 2,930 114,7 | 47,5 | 104,7 | 220 |40 M6x7 215 |35 M6x1 157 \
XV-2P/22 3,180 120,7 | 55,0 | 110,7 | 220 |40 M6x8 915 |35 M6x1 T
XV-2P/26 3,280 124,7 | 55,0 | 114,7 | 220 |40 M6x9 915 |35 M6x1
XV-2P/30 3,530 132,7 | 63,2 | 122,7 | 20 40| M6x10 220 |40, M6x1 8,7
XV-2P/34 3,730 139,7 | 63,2 | 129,7 | 920 40| M6x11 220 |40 M6x1
XV-2P/40 3,930 148,7 | 63,2 | 138,7 | 20 40| M6x12 220 |40 M6x1

D
S
26/08/04 X2P51:2FSRAF
T.1 =54+58.9 [Nm] - screw tightening torque M10 T.3 =40 [Nm] - torque wrench setting 19
T.2 = 233.2 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP217 www.vivoil.com - english 30/06/2008



Table of variations

| 1] xvep

- 1 -
oo e i \/
280 FLANGE Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
Cl001 - Parallel Cl002 - Parallel
7 42 g T2= 4‘4_1.1 INm] | A| T.2=67.5[Nm] B
B é‘ 4 4
=
e =1 &3
Mg ° sBEEEE
| sesflso] o[l é""
COO001 - Tapered CO002 - Tapered
g T2=2332[Nm] - g (T.2=2332[Nm] | §
~ <118 ~ <115 o
= 4 = 3 =
0 ﬁ 2 31
¥ g
395 [21.5 125E 6151‘ 1:-:s
SCFO03 - Splined
T2286LINml |y 195 %
DIN 5482 - 17x14 o
i
©
s
ouT
4 18.8
2 19,5 195 &
2 a
o Q
=
OouT, IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads
XV-2P/04 41 04 O0O-0| S-R | B-B | L-M| Z-Z . - e — "
XV-2P/06 43 06 O-O0| S-R | B-B | L-M | zZ-Z ” e O
XV-2P/09 45 09 0O-0 | S-R|B-B|L-M | Z-Z 80, 80
XV-2P/11 47 11 0O-O0| S-R|B-B|L-M | Z-Z Internal drainage
XV-2P/14 49 14 P-O| S-R|C-B|L-M | Z-Z
XV-2P/17 51 17 P-O| S-R|C-B|L-M | Z-Z
XV-2P/19 53 19 P-O| S-R|C-B|L-M | Z-Z
XV-2P/22 55 22 P-O| S-R|C-B|L-M | Z-Z l
XV-2P/26 57 26 Q-P | S-R|D-C | L-M| Z-Z
XV-2P/30 59 30 Q-P|S-s | D-C|L-M| Z-Z External drainage
XV-2P/34 61 34 Q-P|S-s | D-C|L-M| Z-Z
XV-2P/40 63 40 Q-P|S-s | D-C | L-M| Z-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
8"BSP /2"BSP /4"BSP "BSP M14x1,5 M16x1.5 M18x1,5
A B C D :@: F i@j
M20x1,5 M22x1,5 1-16"-12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
p B &
H | L M = O s
@30 @40
M8x1.25 Mé6x1 : M6x1 _ Méx1 JL/I8x1 .25 __ Mex1
; B, | o5 o © 0 ol | o n Gehause
[+¢] [Te) o o ° I o L4 L, - [t
8 QL Rg} S JC 48T ,Qb ~YUS o= |V|Geschlossen
@40 &35 | @40 48 38 38
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XP217 www.vivoil.com - english 30/06/2008




unidirectional pump - series XV

"SAE A" TYPE PUMP

282.5 FLANGE - SPLINED SHAFT

IX|2|P|51|82]|1|S|R|A|

Series X series XV
Group 2 group2
Category P unidirectional pump
Displacement 51 17
Flange 52  (382.5 SAE A right rotation (with OR)
Shaft | SCFO04 - Splined 215.456 z=9, H=22.5 - SAE J498 9T 16/32DP
IN S inlet- @40 a 45° @20 M6
Body
OUT| R  outlet-@35a45° @15 M6
Cover A standard
Technical data table
TYPE Displacement Max. Pressure ;d) CODE (*}g
cm3/rev P1bar | P3bar Left rotation Right rotation
XV-2P/04 4,20 260 300 X 2P41511 SR AfX 2P4152| SR A 8
XV-2P/06 6,00 260 300 X 2P43511 SR AfJX 2P4352| SR A
XV-2P/09 8,40 260 300 X 2P4551 1 SR AfX 2P 4552 | SR A
XV-2P/11 10,80 260 300 X 2P4751 1 SR AfX 2P 47521 SR A
XV-2P/14 14,40 250 290 (X 2P4951 1 SR AfJX 2P 4952 | SR A
XV-2P/17 16,80 230 270 [X 2P5151 1 SRA|X 2P5152 1 SR A SAE J 498
XV-2P/19 19,20 210 250 X 2P53511 SR AfX 2P53521 SR A o WQT 16/32 DP
XV-2P/22 22,80 200 | 240 X 2P55511 SR A|X 2P 5552 | SR A D 15456 o | |
XV-2P/26 26,20 170 210 (X 2P5751 1 SR AfX 2P5752 |1 SR A OR 82,72 X178
XV-2P/30 30,00 160 200 (X 2P59511 SS AfX 2P5952| SS A T2
XV-2P/34 34,20 150 190 X 2P61511 SS AfJX 2P61521 SS A @ 825 o
XV-2P/40 39,60 140 180 X 2P63511 SS AIX 2P63521 SS A o
P1) Max. working pressure - P3) Max. peak pressure © Jl M, a
For heavy-duty applications, it isrecommended to check the admissible torque of the shaft | B \\H B pe
Dimensions table N “ zl 9 ®
TYPE Weight A B c D E F D E F ) 1
alw
<° g
kg mm mm mm IN ouTt -
XV-2P/04 2,280 88,0 | 39,4 | 78,0 | 220 40| Me6x1 @15 |35| M6x1 w
XV-2P/06 2,380 91,0 | 39,4 | 81,0 | @20 40| M6x2 @15 |35| M6x1 i
XV-2P/09 2,480 95,0 | 41,4 | 850 | 920 |40 M6x3 215 |35 M6x1 L AL
XV-2P/11 2,580 99,0 | 45,8 | 89,0 | 820 |40 M6x4 215 |35 M6x1 15,7
XV-2P/14 2,780 105,0 | 45,8 | 95,0 | 20 |40 M6x5 215 |35 M6x1 TA
XV-2P/17 2,880 109,0 | 45,8 | 99,0 | #20 |40 M6x6 215 |35 M6x1 _
XV-2P/19 2,980 113,0 | 45,8 | 103,0 | 920 (40| M6Xx7 @15 |35| M6x1
XV-2P/22 3,130 119,0 | 53,3 | 109,0 | 20 (40| M6x8 @15 |35| M6x1
XV-2P/26 3,230 123,0 | 53,3 | 113,0 | 920 (40| M6Xx9 915 |35| M6x1
XV-2P/30 3,480 131,0 | 61,5 | 121,0 | 220 |40, M6x10 220 |40, M6x1 <
XV-2P/34 3,680 138,0 | 61,5 | 128,0 | 220 40| M6x11 220 |40 M6x1 3
XV-2P/40 3,880 147,0 | 61,5 | 137,0| 220 40| M6x12 220 |40 M6x1 T

T.1 =54+58.9 [Nm] - screw tightening torque M10
T.2 = 67.1 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).

26/08/0% X2PSB2ISRAGft

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP219

www.vivoil.com - english

30/06/2008



Table of variations

282.5 FLANGE "SAE A"

[\

o

‘

| 1] xvep

o |

282.5 FLANGE "SAE A" Shaft Cover
Left rotation ‘ Right rotation Left rotation Right rotation
CI001 - Parallel CI002 - Parallel
51 52 T.2=44.1[Nm] A T.2=67.5[Nm] B
4 4
| %{ == |
[y T® gy E 5
e g8
sss 30 | = 19)|ng § I
[ [ C0001 - Tapered C0002 - Tapered
o
= 4 =
b
Without OR Without OR b
565{ 1.5, 125
SCFO04 - Splined
T.2=67.1[Nm] | 19,5 §
SAE J 498
9T 16/32 DP ;2 ‘Q_
g o=
w
A9
ouT
9,2 225
z 19,5 19,5 %
N o
BGA ¥
out IN
Displacement Standard bodies
TYPE CODE Displacementcm3/rev Standard threads
XV-2P/04 41 04 0O-0| S-R | B-B | L-M| z2-Z . - e — .
XV-2P/06 43 06 0O-0| S-R | B-B | L-M| z2-Z ** IE O
XV-2P/09 45 09 0-0 | S-R | B-B L-M | z-Z 80, |80
XV-2P/11 47 11 0-0|S-R|B-B|L-M| Z-Z Internal drainage
XV-2P/14 49 14 P-O| S-R|C-B|L-M| Z-Z
XV-2P/17 51 17 P-O| S-R | C-B | L-M| Z-Z
XV-2P/19 53 19 P-O| S-R | C-B | L-M| Z-Z
XV-2P/22 55 22 P-O| S-R|C-B|L-M| Z-Z il
XV-2P/26 57 26 Q-P|S-R|D-C|L-M| Z2-Z
XV-2P/30 59 30 Q-P|S-s | D-C|L-M| Z-Z External drainage
XV-2P/34 61 34 Q-P| S-S | D-C|L-M| Z2-Z
XV-2P/40 63 40 Q-P|S-s | D-C|L-M| Z-Z
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
8"BSP /2"BSP /4"BSP "BSP M14x1,5 M16x1.5 M18x1,5
A B (o} D :@: E F i@j
M20x1,5 M22x1,5 1-16"12UNF 7/8"-14UNF 1-5/16"-12UNF M6x1 Méx1.25
- ? &
H | L M Nl = ¢ O s
@30 @40
M8x1.25 Méx1 i M6x1 _ Méx1 JM&m 25 —_ Mext
! B o \B, o © 0 | | o 1y Gehiuse
[+¢] [Te) o o ° I o 2 g - [ o
8 Qe Rg} S JC 48T ,Qb ~UISL O L ™ V| Geschlossen
@40 &35 | @40 48 38 38

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XP219

www.vivoil.com - english

30/06/2008






